

KEY LARGO FIRE RESCUE & EMS DISTRICT

P.O. Box 371023 Key Largo, FL 33037-1023



KLFDP

7027

Purchase Order Number

PURCHASE ORDER REQUEST FORM

V			

Name TEN-8

Address 2904 59th Avenue Drive East

City

Bradenton

Phone 941-756-7779

St FL

ZIP 34203 941-756-2598

FAX:

BILL TO: KEY LARGO FIRE RESCUE

Name

LINDA NEWMAN

Address 1 EAST DRIVE City

Phone

KEY LARGO 305-451-2700 St FL

ZIP 33037-0782

FAX: 305-451-4699

info@kevlargofire.com

ty	Item #	Description	Unit Price	Total
13	FRX-TCCJTEN8CTY	Fire Dex Bunker Coat	\$855.35	\$11,119.
104	FRX-3S/L YEL	Scotchlite Letters	\$5.88	\$611.
13	FRX_TPFXRBJTEN8CTY	Fire Dex Bunker Pants	\$607.99	\$7,903.8
13		Nomex Hoods	\$25.00	\$325.0
13		Dragonfire Fire Gloves Gauntlet	\$58.00	\$754.
13		Thorogood Rubber Fire Boots	\$115.00	\$1,495.
	CRN-CTRD-B5B2A1221	Cairns Defendor fire helmet with NFPA visor	\$222.63	\$2,894.
				\$0.
				\$0.
		THIS IS A FEMA DHS/GRANT		\$0.
				\$0.
				\$0.
				\$0.
				\$0.
				\$0.
				\$0.
				\$0.
				\$0.
				\$0.
				\$0. \$0.
				\$0. \$0.
				\$0. \$0.
				\$25,103.
			Shipping & Handling	375.00
	a A. B. II. a. a. a. l.			
mer	nt ivietnoa		Sales Lax	l n/a
mer	nt Method		Sales Tax	n/a
mer	Check		Sales Tax	n/a \$25,478.
mer			Sales Tax	
	Check		Sales Tax	
	Check Account No.	Date:	Sales Tax	
	Check Account No.	Date:	Sales Tax	
	Check Account No.	Date:	Sales Tax	
	Check Account No.		Sales Tax	
	Check Account No. VAL Department Head	Date:	Sales Tax	



2904 59TH AVENUE DRIVE EAST 141 MARITIME DRIVE

BRADENTON, FL 34203 IN FLA: 1-800-228-8368

PHONE: 941-756-7779 PHONE: 407-328-5081 FAX: 941-756-2598 FAX: 407-328-5083

or visit us at: www.ten8fire.com

SALES QUOTE

Sales Quote Number: Q142497 Sales Quote Date: 09/17/14

Page: 1

Total:

25,478.13

Sell CITY OF KEY LARGO Ship CITY OF KEY LARGO FIRE RESCUE

To: P.O. BOX 782 To: 1 EAST DR

SANFORD, FL 32771

KEY LARGO, FL 33037 KEY LARGO, FL 33037

Ship Via: Ten-8 Contact DNUMMELA2
Payment terms: NET 20 DAYS Customer ID: KEY LA

Unit **Total Price** Item No. Description Quantity **Unit Price** FRX-TCCJTEN8CTY TEN-8 STOCK BASOFIL ASSAULT **EACH** 13 855.35 11,119.55 COAT, LIME/YELLOW TRIM SIZE: SLEEVE: LENGHT: FRX-3S/L YEL 3" SCOTCHLITE LETTERS LIME **EACH** 104 5.88 611.52 YELLOW KEY LARGO ON UPPER BACK FRX-TPFXRBJTEN8CTY TEN-8 STOCK SPEC BASOFIL FX-R EACH 13 607.99 7,903.87 PANT LIME/YELLOW FRX-H61NLNBXL WHITE NOMEX LENZING BLEND 20/80 EACH 13 25.00 325.00 WITH GUSSET DFG-XGLOVE-G-L DRAGONFIRE ALPHA X GAUNTLET PAIR 13 58.00 754.00 LARGE THR-807-6003 Thorogood MEN'S RUBBER NFPA **PAIR** 13 115.00 1,495.00 BOOTS CRN-CTRD-B5B2A1221 1044 w/DEFENDER, VISOR YELLOW, **EACH** 13 222.63 2,894.19 STD FLANNEL HDBND FREIGHT FREIGHT CHARGES/ ESTIMATED **EACH** 375.00 375.00 25,478.13 Amount Subject to Amount Exempt Subtotal: Sales Tax from Sales Tax Invoice Discount: 0.00 25,478.13 0.00 0.00 Sales Tax:

Quote submitted by: DNUMMELA2
This Quote is valid until 10/17/14



Order Number: 2980288 **Cust PO: QUOTE**

Account Information

(4224601) KEY LARGO VOL FIRE/RESCUE DEPT

Attention: DAVIDO GARRIDO

Email: DGARRIDO@KEYLARGOFIRE.COM

Tel: (305) 451-2700 Profession: Fire

Billing Address Information

Shipping Address Information

KEY LARGO VOL FIRE/RESCUE DEPT KEY LARGO VOL FIRE RESCUE DEPT

DAVIDO GARRIDO

1 EAST DR

1 EAST DR

DAVIDO GARRIDO

KEY LARGO, FL 33037 US

KEY LARGO, FL 33037 US DGARRIDO@KEYLARGOFIRE.COM

(305) 451-2700

Item No.	Description	Quantity	Item Price	Total Price
FE761 LG	FIREDEX EXPRESS TURNOUT PANT	13	775.00	10,075.00
FE760 LG	FIREDEX EXPRESS TURNOUT GEAR COAT	13	1,200.00	15,600.00
SP564 BLK 10 M	HELLFIRE FELTLINED	13	147.25	1,914.25
FE269	GALLS NOMEX LENZING HOOD	13	31.50	409.50
FE973 YEL	TRADITIONAL STYLE FIRE HELMET	13	248.40	3,229.20
GL335 BLU LG	FDP KOALA COWHIDE W/WRISTLET NFPA GAUNTLET WRIST	13	72.00	936.00

Sub Total: 32,163.95 Shipping: 6.95 Sales Tax: 2,412.30 Order Total: 34,583.20

Payments:

Pricing is valid for 30 days.

David

From: Alex Sgambato [AlexS@chiefsupply.com]

Thursday, September 18, 2014 2:54 PM Sent:

To: Alex Sgambato

Subject: Chief & Law Enforcement Supply





Remit To: Chief Supply PO Box 602763 Charlotte, NC 28260-2763

P 800.733.9281 F 704.548.0399 www.chiefsupply.com

Order Quote

Your Quote# 401630

Quote Date 09/18/14

Time

Your account rep is: JOSE FERRANDO

Order taken by: Alex Sgambato

Account# 301670

CITY OF KEY LARGO FIRE DEPT.

FRANCISCO MOC

P.O.BOX 782

KEY LARGO, FL 33037

Ship-to 0

CITY OF KEY LARGO FIRE DEPT.

DAVID GARRIDO

1 EAST DR

KEY LARGO, FL 33037-3028

Ship via PREPAID & ADD-UPS GROUND from CHARLOTTE, NC warehouse.

PartNo	Description	UM	QtyOrd	UnitPrc	Extension
TCPJPBISAXG29XL	~ASSAULT PANT GEMINI XT W/AX LINER GOLD X-LARGE		13	1,015.000	13,195.00
TCCJPBISAT32XL	~ASSAULT COAT GEMINI XT W/AT LINER GOLD X-LARGE	EA	13	1,300.000	16,900.00
5228GFDPLG	FDPTM KOALA TAN GLOVE GAUNTLET- LG	EA	13	50.000	650.00
8076001105M	~RUBBER LIGHT INSULATED FIRE BOOT, CALENDERED SOLE, BLACK/YELLOW, 10.5	EA	13	162.590	2,113.67
1044DSY	~1044 HELMET W/CLEAR DEFENDER SHIELD, STD HEADLINER, YELLOW	EA	13	258.000	3,354.00
				Sub Total Freight Handling Tax	36,212.67 1086.38
				Total	37299.05

WE ARE AN EQUAL OPPORTUNITY EMPLOYER. THANK YOU FOR YOUR CONTINUED BUSINESS. THIS QUOTE IS AUTHORIZED BY JOSE FERRANDO

Quote good for 30 days from issuance. After 30 days please call your representative to confirm pricing and re-issue the quote. Standard freight charges apply unless otherwise specified.

I understand that any returns are subject to the return policies of the manufacturer (up to a 50% restocking charge) plus 9/18/2014